

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: Licer	nse #33638		API No. 15 - 035-24293-0000
			Spot Description:
	bridge Office Park 1741		SW_NE_SW_NW_Sec. 05 Twp. 30 S. R. 04 Fast West
Address 2:			
		Zip: 74136 + 5 1 0 8	
_			Footages Calculated from Nearest Outside Section Corner:
Phone: (918)			□NE ☑NW □SE □SW
•			County: Butler
			Lease Name: Rock Well #: 1-5
	Robert F. Pfannenstiel		Field Name: Cooley
-			Producing Formation: Arbuckle
Designate Type of (			Elevation: Ground: 1172 Kelly Bushing: 1177
,	Re-Entry	Workover	Total Depth: 3040 Plug Back Total Depth: 3030
	SWD SIOW		Amount of Surface Pipe Set and Cemented at: Feet
	SNB SIGW		Multiple Stage Cementing Collar Used? Yes V No
	ed Methane) Temp.	Abd.	If yes, show depth set: Feet
Dry	Other		If Alternate II completion, cement circulated from:
		V, Expl., Cathodic, etc.)	feet depth to: w/sx cmt.
	ry: Old Well Info as follows:		Marve Control of the
			Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)  Output  Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
	_	1 Total Depth:	Chloride content: 1300 ppm Fluid volume:bbls  Dewatering method used: Evaporation and Backfill
· · · · · ·	Re-penConv. f	to Enhr Conv. to SWD	Dewatering method used:
Commingled		:	Location of fluid disposal if hauled offsite:
•		:	Operator Name:
Other (SWD		·	Lease Name: License No.:
04-30-08		5-20-08	Quarter Sec TwpS. R
Spud Date or Recompletion Date	Date Reached TD	Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, w of side two of this tiality in excess of	vithin 120 days of the spud d s form will be held confidenti of 12 months). One copy of a	ate, recompletion, workover or o al for a period of 12 months if re all wireline logs and geologist w	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidenell report shall be attached with this form. ALL CEMENTING TICKETS MUST orm with all temporarily abandoned wells.
	the statutes, rules and regularized to the best of my kno		The oil and gas industry have been fully complied with and the statements herein
Signature:	uN / J	enusiX	KCC Office Use ONLY
Title: Geologist		Date: 9-21-09	N
	orn to before me this A	F Spranher	Letter of Confidentiality Received RECEIVED  If Denied, Yes Date: KANSAS CORPORATION COMMISSION
19	JAT TO DESCRETTIVE THIS 7 /	day of JUNY HILL	E man
20 0 .	$\mathcal{M}$	NOT.	Wireline Log Received SEP 2 5 2009
Notary Public:	I fielde 9	Tall * MANOR	OR 1
Data Commission E	0/1/22/	2013 ESP. 08022	CONSERVATION DIVISION

Operator Name: Metro Energy Group, Inc. Lease Name: \_Rock INSTRUCTIONS: Show important tops and base of formations penetrated. Detail all cores. Report all final copies of drill stems tests giving interval tested, time tool open and closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrostatic pressures, bottom hole temperature, fluid recovery, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more space is needed. Attach copy of all Electric Wireline Logs surveyed. Attach final geological well site report. Yes **V** No **V** Loq Formation (Top), Depth and Datum ☐ Sample **Drill Stem Tests Taken** (Attach Additional Sheets) Name Top Datum ✓ Yes □No Samples Sent to Geological Survey -673 Stalnaker Sandstone 1850 Yes **✓** No -1033 Cores Taken Kansas City 2210 Electric Log Run Yes 2438 -1261 Base of Kansas City (Submit Copy) 2740 -1563 Mississippian Lime List All E. Logs Run: 2897 -1720 Chattanooga Shale Compensated Neutron-Density, Dual Induction, 2974 -1797 Arbuckle Dolomite Micro Log CASING RECORD ☐ New ☐ Used Report all strings set-conductor, surface, intermediate, production, etc. Size Casing Set (In O.D.) Settina # Sacks Type and Percent Size Hole Weight Lbs. / Ft. Type of Cement Purpose of String Drilled Depth Used Additives Surface 12.25" 8.625" 23# 254' GL Class "A" 165 3%cc + Flo-Seal **Production** 3010' GL 7.875" 5.5" 15.5# Thick Set 200 Kol-Seal +Metasilicate ADDITIONAL CEMENTING / SQUEEZE RECORD Purpose: Depth #Sacks Used Type of Cement Type and Percent Additives Top Bottom Perforate Protect Casing Plug Back TD Plug Off Zone PERFORATION RECORD - Bridge Plugs Set/Type Acid, Fracture, Shot, Cement Squeeze Record Shots Per Foot Specify Footage of Each Interval Perforated (Amount and Kind of Material Used) Depth 2976-2979' KB 4spf None TUBING RECORD: Size: Set At: Packer At: Liner Run: Yes ✓ No 7.875" 2915 N/A Producing Method: Date of First, Resumed Production, SWD or Enhr. Other (Explain) Flowing Pumping Gas Lift 8-29-08 **Estimated Production** Oil Bbls. Gas Mcf Water Bbls Gas-Oil Ratio Gravity Per 24 Hours 5 **TSTM** 850 0000:1 38 DISPOSITION OF GAS: METHOD OF COMPLETION: PRODUCTION INTERVAL:

Perf. Dually Comp.

Open Hole

Other (Specify)

Vented Sold Used on Lease

(If vented, Submit ACO-18.)

2976-2979' KB



#### **REMIT TO**

Consolidated Oil Well Services, LLC
Dept. 970
P.O. Box 4346
Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

NVOICE		Invoice #	221629
		=======================================	=======
nvoice Date: 04/30/2008	Terms: 0/30,n/30	Page	

METRO ENERGY GROUP 1741 E. 71ST STREET TULSA OK 74136 (918)493-2880 ROCK #1-5 13077 04-30-08

art Number	Description	Qty	Unit Price	Total
1045	CLASS "A" CEMENT (SALE)	165.00	12.9000	2128.50
102	CALCIUM CHLORIDE (50#)	500.00	.7000	350.00
432	8 5/8" WOODEN PLUG	1.00	73.0000	73.00
Descripti	on	Hours	Unit Price	Total
42 MIN. BULK	DELIVERY	1.00	300.00	300.00
46 CEMENT PL	MP (SURFACE)	1.00	675.00	675.00
46 EQUIPMENT	MILEAGE (ONE WAY)	34.00	3.45	117.30

46 EQUIPMENT MILEAGE (ONE WAY) 34.00 3.45 117.36

RECEIVED KANSAS CORPORATION COMMISSION

						SEP 2	<b>5</b> 2009
						CONSERVAT WICH	TON DIVISION ITA, KS
	=======		========	=======	:=======	========	========
arts:	2551.50	Freight:	.00	Tax:	147.98	3 AR	3791.78
abor:	.00	Misc:	.00	Total:	3791.78	3	
ıblt:	.00	Supplies:	.00	Change:	.00	•	
						========	=========
igned						ate	
BARTLESVILLE, OK 918/338-0808	ELDORADO, KS 316/322-7022	EUREKA, Ks 620/583-7664	GILLETTE, WY 307/686-4914	McALESTER, OK 918/426-7667	Ottawa, Ks 785/242-4044	Thayer, Ks 620/839-5269	Worland, Wy 307/347-4577

CONSOLIDATED OIL WELL SERVICES, LLC .O. BOX 884, CHANUTE, KS 66720 20-431-9210 OR 800-467-8676



ENTERED TICKET NUMBER 1307
LOCATION EIDorado #80 FOREMAN JINTHOMAS

## TREATMENT REPORT & FIELD TICKET CEMENT

DATE	CUSTOMER #	WELL NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
1-30-08	5485	Rock # 1-5		5	30	HE	<del></del>
JSTOMER							الصياوي
VIET DO	Everan(	3 roup Inc	4	TRUCK #	DRIVER	TRUCK#	DRIVER
) _ P		17/11/571		446	Jacob		
<del>Sor Dok</del>	671124	1741 E.715T	4	442	Todd		
. وسنا		BIAIL .   ZIP CODE	1				
لسلحمي	-C	OK 74136	J		J		
B TYPE Su	2-11	HOLE SIZE 12/4	HOLE DEPTI	1255FI.	CASING SIZE &	WEIGHT 75%	"23.0#
			_ TUBING			OTHER	
URRY WEIGH		SLURRY VOL		sk	CEMENT LEFT I	CASING 20	10f1
PLACEMENT	- C( 300	DISPLACEMENT PSI	MIX PSI		RATE		
MARKS:	3 FF C MA	down & Release	798 13	rate cir	culation.	Pum v 16	Soks clas
13%cc	C, Shute	down & Release	18%	URP +d	SACRME	nt to 2	24f++
sprot in	a, Wash	up + Rigdown	<del></del>				
			<del></del>				
<u>"("Ce</u>	nent cir	culated in the c	ellar"				
							····
	<del></del>						
CCOUNT	<del></del>						
CCOUNT CODE	QUANTITY (	or UNITS DE	SCRIPTION of	SERVICES or PRO	DUCT	UNIT PRICE	TOTAL
4015		PUMP CHARGE				<u> </u>	
106	74	MILEAGE	•			675,00	
1000	<del> </del>					3.45	117.30
045	16556	ce dicel				<u></u>	
	5001			1.		13 40	2128.50
02 432	<u> </u>	- 218				70	350.00
102	<u></u>	0 78 4	podent	ng		73.00	73.00
1127	1						
407	<u> </u>	min.B.	ulkTru	.ck		300.00	300.00
				-	RECEI	/ED	
					KANSAS CORPORAT	ON COMMISSION	
						- 0000	
					SEP 2	2009	<del></del>
	. :				· ·		
					CONSERVATI WICH	ON DIVISION TA. KS	
.					<b>VII.011</b>	7,1,10	
		:			<del></del>		
	<del></del>				= 1.1.		3//12
					Subtotal		3643.20
			011 0	$\overline{c}$		SALES TAX	- KAN'AR
		Ò	0160	:4		ESTIMATED TOTAL	240175
PRIZATION			TLE		r	DATE	
Received	lime May. 1.	2008 10:56AM No. 3403			<del></del>		··



### **REMIT TO**

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 Main Office P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

INVOICE			Invoice #	221923
			:========	
Invoice Date:	05/14/2008	Terms: 0/30,n/30	Page	1

METRO ENERGY GROUP 1741 E. 71ST STREET TULSA OK 74136 (918)493-2880 ROCK 1-5 13994 05-06-08

Description	Qty	Unit Price	Total
THICK SET CEMENT	200.00	16.2000	3240.00
KOL SEAL (50# BAG)	1000.00	.4000	400.00
CAUSTIC SODA	150.00	1.2800	192.00
FLOAT SHOE AFU 5 1/2"	1.00	312.0000	312.00
CENTRALIZER 5 1/2"	7.00	43.5000	304.50
CEMENT BASKET 5 1/2"	2.00	208.0000	416.00
5 1/2" LATCH DOWN PLUG	1.00	230.0000	230.00
5 1/2" WELD ON CASING CO	1.00	70.0000	70.00
CITY WATER	3000.00	.0133	39.90
	Hours	Unit Price	Total
TRUCK (CEMENT)	4.00	94.00	376.00
	5.00	85.00	425.00
	1.00	875.00	875.00
AGE (ONE WAY)	40.00	3.45	138.00
VERY	1.00	300.00	300.00
	THICK SET CEMENT  KOL SEAL (50# BAG)  CAUSTIC SODA  FLOAT SHOE AFU 5 1/2"  CENTRALIZER 5 1/2"  CEMENT BASKET 5 1/2"  5 1/2" LATCH DOWN PLUG  5 1/2" WELD ON CASING CO  CITY WATER  TRUCK (CEMENT)  AGE (ONE WAY)	THICK SET CEMENT 200.00  KOL SEAL (50# BAG) 1000.00  CAUSTIC SODA 150.00  FLOAT SHOE AFU 5 1/2" 1.00  CENTRALIZER 5 1/2" 7.00  CEMENT BASKET 5 1/2" 2.00  5 1/2" LATCH DOWN PLUG 1.00  5 1/2" WELD ON CASING CO 1.00  CITY WATER 3000.00  TRUCK (CEMENT) 4.00  AGE (ONE WAY) 40.00	THICK SET CEMENT  KOL SEAL (50# BAG)  CAUSTIC SODA  FLOAT SHOE AFU 5 1/2"  CENTRALIZER 5 1/2"  CEMENT BASKET 5 1/2"  CEMENT BASKET 5 1/2"  1.00  5 1/2" LATCH DOWN PLUG  5 1/2" WELD ON CASING CO  CITY WATER  TRUCK (CEMENT)  AGE (ONE WAY)  1.00  1.

					KANSAS (	RECEIVED CORPORATION COMMIS	BSION
					S	SEP <b>2 5</b> 2009	
,					CONS	SERVATION DIVISI WICHITA, KS	ON
== <b>===</b> ==== arts:	======= 5204.40	 Freight:		======= Tax:	 301.86	 5 AR	7620.26
abor: ublt:	.00	Misc: Supplies:		Total: Change:	7620.26 .00		
=======	======		:======:		=======		
igned				- N	D	ate	
BARTLESVILLE, OK 918/338-0808	ELDORADO, KS 316/322-7022	Eureka, Ks 620/583-7664	GILLETTE, WY 307/686-4914	McALESTER, OK 918/426-7667	OTTAWA, Ks 785/242-4044	THAYER, Ks 620/839-5269	WORLAND, WY 307/347-4577

CONSOLIDATED OIL WELL SERVICES, LC P.O. BOX 884, CHANUTE, KS 66720 620-431-9210 OR 800-467-8676

TICKET NUMBER	13994
LOCATION EUROK	1
FOREMAN STELLE	

### TREATMENT REPORT & FIELD TICKET CEMENT

		<del></del>		<u> </u>				
DATE	CUSTOMER#	WE	LL NAME & NUM	1BER	SECTION	TOWNSHIP	RANGE	COUNT
5-6.08	2480	Rock	#1-5		5	302	46	Coulsy
CUSTOMER	_	_	_	"	100000000000000000000000000000000000000		HARRIE .	
WALLO	Energy !	Group.	Tne	_	TRUCK #	DRIVER	TRUCK#	DRIVER
_		• •			485	Alan	_	
Pa. Bex	69/734			_] ,	515	Local		
CITY		STATE	ZIP CODE		437	Z:w		
Tulsa	·	OKla.	74169					
JOB TYPELON	string_	HOLE SIZE	73%	HOLE DEPTH	3030'	CASING SIZE &	WEIGHT 4%	N.CE
CASING DEPTH	3010	DRILL PIPE					OTHER	
SLURRY WEIGH	Γ	SLURRY VOL_			k	CEMENT LEFT in		<del></del> ···· .
ISPLACEMENT,	71.66	DISPLACEMEN	IT PSI			RATE	CASING	
						TOTIE		
<u> </u>	APT Y TWO	CI ING	ing up	TO 372 C	<del>-aziva-</del>	3 May K Ci	aculation	with.
DELS HE	RY MONEL	- WiX	/30- Ca	USTIC	Socia C	with 2064	& WOTER	Pump
10 bbls Fr	as y Matar	<u> </u>	المراد الم	Thicks	et Cemen	T W/32	to1-500	Panisk
The FICS	13 543 A	12 00	C/91 7h	e Last	SS SKS	AT 13.4	# pacas)	Lame On O
sk. wa	shout D	umo & Li	25.524	I down	Release	plug. (	1	
Displace	71.66 4	We Fros	A COTET	Gua	Pura	Pressu	A ICA CO	BUT LIVE
01. 00	- 190 F	1		2	- wap n	7/43/4	CR COM	_Auno
17 ag. 141	7260· ·	Coo. 1	Min 1	racess p	Pressure	Plug be	ld Goo	دا
SACWAT	TON AT	HITIME	While	Cemen	Line			
		2005	Malera	Riedon	un.		<u>-</u> <u>-</u> -	4,11,244, 4,
			•	0		ankyou		· · · · · · · · · · · · · · · · · · ·
ACCOUNT	QUANTITY	or HMITS	l br	CCDIDTION (	SERVICES or PRO	. 1	UNIT PRICE	T

ACCOUNT CODE	QUANTITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401		PUMP CHARGE	875.00	875.00
5466	40	MILEAGE	3.46	138.00
112LA	200 sks	Thick set Comen	1620	32.40.00
///64	/00 B #	No/ Seal 5th par/sk	.40	400.00
5407	11 Tons	Tanniloge Bulk Truck RECEIVED KANSAS CORPORATION COMMI	sidky/S	300.00
//03	150 €	Caustic Soda SEP 2 5 2009	129	192,00
4159		Floor Shoe AFU	3/2.00	3/2.00
4130		5% Cantaglicar CONSERVATION DIVIS	10Ny 3.50	304.50
4104		5 & Coment Basket WICHITA, KS	203.00	416.00
4454		5 4 Latch Down Plug	230.00	230.00
605A	Shrs	histogram	85.00	425.00
4312		5 % Wald on Collor	70.46	70.00
5502 2	410	20 bbs Vacuum Truck	94.40	374.00
1123	3000 gallons	City water	/3.30	39.90
		Sub total		73/8.40
		<i>ଥିବ ।</i> ଏକ୍ଷ	TOTAL	74026

TITLE Ca. Rap

DATE\_

AUTHORIZATION ( Toess by Gary Reed